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(1) kxpenses which are paid before they are due.
. TEPFS a ‘ar Pr it~ g
(2) Excess of {otal assets over total liabilities of ‘Not for Profit” concern,

(3) Liability likely to arise in future on happening of certain event.
() Bills of exchange drawn and accepted without any valuable consideratiop,

(9) 1t is damaged software, cracked nearly fully functional. |
(1) Prepaid expenses (2) Capital Fund (3) Contingent liability }
' (1) Accominodation Bill — (5) Pirated software

i Scheme of Marking: 1 mark for vaph correct answer

Q {B) Do vou agree or disagree with the following statements:

(1) Partner’s Current Account always shows debit balance.
(2) Purchase of sports equipments is a capital expenditure.

(3) New ratio minus old ratio is equal to sacrifice ratio.

(4) Retiring partner is entitled to his share of goodwill.

(9) Ratio analysis is useful for inter firm comparison.

~ (3) Disagree 'h(?i)_ ;g_;e_e_ ”(5) Agree; ) J

| A . (1) Disagree (2) Agree
| Scheme of Marking: 1 mark for each correct answer |
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Q.1 {C}) Answer in one sentence only:
(1) What is fluctuating capital method ?
\ns. It is a method of maintaining capital account in which only capital accoun;
partner is opened to record all transactions relating to partners and the balanc,

this account goes on fluctuating every year.

(2) What is subscription?
Subscription is a major source of income to ‘Not for profit’ concern and it is paid}

members regularly to enjoy the services.

(3) Why is new partner admitted ?
\ns. A new partner is admitted to meet the need of additional capital, managerial g,
technical abilities.

(4) What is benefit ratio?
\n=. The ratio which the continuing partners acquire on retirement of partner is ca|}

as gain ratio/benefit ratio.

(5) Why is Realisation Account ocpened?
Realisation Account is opened to know profit or loss on realisation of assets ar

liabilities in case of dissolution of firm. .
3_ Scheme of Marking: 1 mark for each correct answer]

(1) Building, Furniture, Machinery, Bills Payable.
(2) School, Hospital, Bank, Club.
(3) Notary Public, Drawer, Drawee, Payee.
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(3) Notary Public |
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3 “') gills Payable (2) Bank
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pe Balance Sheet of Meena and Hee L i
’ll;”es in the ratio of 2:1 is ag un den‘“ who shared the profits and (10)

Balance Sheet as on 31 March. 2020

Liabilities Amt. () Assets Amt. (7)

Leasehold property 20,000

1,34,000 | Livestock 6,600

1,20,000 | Loose tools 90,200

ditors 53,800 | Stock 86,800
bt Outstanding 10,000 | Debtors 48,000

cerve Fund 7,200 [Less: R.D.D. 2,000 46,000

Bank 75,400

3,25,000 3,25,000

On 1%t April, 2020 Seema was admitted as 14" partner on the following terms:
Seema should bring in ¥1,20,000 towards her capital.

rirm’s goodwill is valued at ¥1,44,000 and Seema agreed to bring her share in the
firm’s goodwill by a cheque.

Reserve for doubtful debts should be maintained at 7.5% on debtors.

Increase live stock by 74,400 and write off loose tools by 20%.

Rent outstanding paid 39,040 in full settlement.

Prepare:

(1) Profit and Loss Adjustment Account (2) Partner’s Capital Account

(3) Balance Sheet of the new firm.

"F 8ol In the books of firm
l Dr. Profit and Loss Adjustment A/c Cr.
! Particulars Amt. () | Amt. () Particulars Amt. (7) | Amt. ()
' [ToRD.D. A/c 1,600 | By Live Stock A/c 4,400
To Loose Tools A/c 18,040 | By Outstanding Rent A/c 960
By Revaluation Loss:
Meena Capital A/c 9,520
‘ Heena Capital A/c 4,760| 14,280
19,640 19,640
~ Dr Partner’s Capital Accounts Cr.
| Particulars Meena | Heena | Seema Particulars Meena | Heena | Seema
L {ToP/L Adj. A/c 9.520| 4,760 By Balance b/d  |1,34,000{1,20,000 s
To Balance ¢/d  |1,53,280[1,29,640|1,20,000| By Reserve Fund A/c| 4,800 2,400 -
.. By Bank A/c = —11,20,000
) By Goodwill A/c 24,000{ 12,000 —
L 1,62,800/1,34,400{1,20,000 1.62,800(1,34,400{1,20,000
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